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72 A wadd of sticky clay with mass sroand velocity v, s fired at o
solied ovlinder of mass M oand vadius £ (Fig, PHOT2) The .
evlineder s tmnally ar rest amnd 1 moamited on oa fised hor- e
pontal axie that s through s center of mass. The e

of motion of the projectile is perpendicala o the axle and
at a distance o < K from the center. (a) Find the angula
speeed of the svstem just after the clay strikes annl sticks to
the surface of the edinder, (hi Is mechanical energy ol the
clav=cviinder swstem conserved in this process: Explan
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0. w3

ﬂ;_.lmﬂem sits on a freely rotating stool holding two
weights, each of mass 3.00 kg (Figure P11.30). When his
,ﬁ:'lm arc extended horizontally, the weights are 1.00 m
from the axis of rotation and he rotates with an angular
eed of 0.750 rad/s. The moment of inertia of the sta-
ent plus stool is 3.00 kg- m* and is assumed 10 be com-
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22. Two balls with masses M and m are connecied by a rigid
rod of length I and negligible mass as in Figure P10.22,

For an thII'I perpendicular to the rod, show that the system
has the minimum moment of inertia when the axis passes
L
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A uniform thin solid door has height 2.20 m, width

0.870 m, and mass 23.0 kg. Find its moment of inertia for =
rotation on its hinges. Is any piece ol data unnecessary? NF .
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B20.0-kg block is commected o oa 300-kg block by a ‘i|1'1.rI:L:_-.
hat passes over a light frictionless pulley. The b ikkg
lock is connected o a spring that has negligible mass and
fforce constant of 250 N/m. as shown in Figure PRAOY
Phe spring s unstrewched when the system 1% as shown in
e figure, and the incline is Irictionless, The 2000-kg block
g pulled 200 cm down the incline {so thar the 30.0-ky
flock is 40.0 cm above the Hoor) and released from rest
find the !‘[Jt‘l'll of vach block when the 3000kyg block s
L 0em abine the (loor (thar is, when the spring is 1m-
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En enkel jo-jo bestar av ett sndre som ir lindat runt en solid cylinder med massa M och radie
R Om man hdller &nden av snéret stilla och slipper cylindern s kommer den att sinkas
under rotation

Bestam accelerationen hos cylinderns tyndpunkt och spannkraften i snéret. Cylinderns

trdghetsmoment &t 1/2 MR2. (4p)
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B’.{'“ ' Alter
A 2.0kg disk traveling at 3.0 m/s strikes a 1.0kg stick of ) '
length 4.0 m that is lving flat on nearly frictionless ice, as .2 <)
shown in Figure 11.13. Assume that the collision i elastic Yu=30m/s
and that the disk does not deviate [rom its original line of
mation. Find the translational speed of the disk, the transla- i
tional speed of the stick, and the angular speed of the stick
after the collision. The moment of inertia of the stick abow =
its center of mass is 1.35 kg- m?,
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P

Bestim accelerationen (uttryck grna i procent av g och ta dig en ordentlig funderare
pé om svaret & rimligt) hos de bida kroppama i figuren nedan om m,; = 4,0 kg och m;
=6,0 kg Trissan fir sdvil friktionsfri som masslds och snbret ar otdnjbart och

massi8st. Underlaget som m, glider pa & friktionsfritt.
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